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Assume that f(x) = In(] + )| is the given function and that P, |represents the nth Taylor Polynomial centered at ¥ = 0| Find the least
integer nl for which P, Eliﬂappm.ummes] i | ﬁlhn within 0.0001.
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PRINTABLE VERSION

Quiz 22

You scored 100 out of 100

Question 1

Your answer is CORRECT. ( o)

3
Find the rectangular coordinates for the point given in poloar coordinates: [5, 7” ] |

W 1) X=yUsd y '63 V&W\D'

b) (0,5)|

0« (0.-5)

d) 1,-5 )
(1.-5)| . /5-\(
8\
e (-1, —6)| \
h Y
Question 2 b )
Your answer is CORRECT. X, %..
Give all possible polar coordinates for the point (1, —1)| given in rectangular coordinates.
2 ? 2
[ T 3z X + 3 (
ay —\/Z,T+2nﬂ s \/E,T+2n7z
) K Y | - L -
yzﬁ,%ﬂzm],[—zﬁ,%”wm] —
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Question 3 + D:“
Your answer 1s CORRECT. \

7
Find the point symmetric to [ 5 z ]
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a) 26
b 7 5n]
) 2°76 |
7 2]
0 |77
[ on
d) _7,?]
7 78]
© 7%
Question 4
Your answer is CORRECT.

Write the equation (x — 11)? + y? = 121 |in polar coordinates.

a) r=121| XQ”QQY.{'\Q\ + 51: [1\
by  r=22sin(6)] X 2 'l" ‘31 = 1 Q.X
¢ r=llcos*(0)sin(0) r 2 - Qa r S e,

d) =« r=22cos(0)| !% r - 29.(,036

e) r=11sin(0)+ 121|

Question 5
Your answer is CORRECT.

Write the equation 2rcos(6) =9 |in rectangular coordinates.

a) x’= 9|

b x—9\
) )
x-2|

c) =3
a —9\
) y=73
3

e) y=-=



Question 6

Your answer is CORRECT.

Which of the following shows the correct sketch of the polar curve r =5 cos (6’)'7
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Question 7

Your answer is CORRECT.




Which of the following shows the correct sketch of the polar curve r = 3 cos (*9)[7
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Question 8
Your answer 1s CORRECT.

¢

5 |
Which of the following shows the correct sketch of the polar curve r =35 — ) cos 6?
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Question 9

Your answer is CORRECT. J

Which of the following shows the correct sketch of the polar curve r = —5 cos 3 9 |for 0<0< 2|
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Question 10
Your answer i1s CORRECT.
Find the rectangular coordinates of the point(s) of intersection of the polar curves r = 11 sin. (9) andr = —11 COS(G)I
", [=1lsnd M=y
a) (0,0

T Djand (- 2L 1L
272

Q) 0,0and (—11,11) 4=

(=] sunb

r2=|lrsine
2=\ uG

| S = -l ws e

tane= -|
p =3y

-

X =1 st = (153, o5 3Ty = V),
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